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Note : Attempt questions from each section as per instructions 
given in each section. 

SECTION - A 
Answer any two questions from this section : 

2x20=40 

	

1. 	Explain : 
(a) How are productivity levels higher in the 

industrial sector than in the agricultural 
sector ? 

(b) How does industrialisation help in 
generation and mobilisation of larger 
savings ? 

	

2. 	(a) Describe objectives and features of Industrial 
Policy Revolution 1956. 

(b) Examine the important changes in 
industrial policy during 1970 to 1990. 

	

3. 	Explain the relationship between : 
(a) Output growth and productivity growth. 
(b) Trade liberalisation and industrial 

productivity. 
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4. What do you mean by the balanced regional 
development ? Explain the causes of regional 
disparities in India and suggest measures for 
balanced regional growth. 

SECTION - B 
Answer any four of the following questions. 

5. What do you mean by : 
(a) international trade, 
(b) foreign direct investment and 
(c) globalisation. 

4x12=48 

	

6. 	Explain the steps taken towards liberalisation in 
the context of changes in industrial policy of 1991. 

	

7. 	What do you mean by economics of scale ? Point 
out its different forms. 

	

8. 	What is a monopoly ? Explain in brief each of the 
following : 
(a) Artificial barriers, 
(b) Natural barriers and 
(c) Strategic barriers. 

	

9. 	What is marginalist principle ? Examine its 
limitations. 

10. Discuss inductive analysis of industrial location 
as propounded by Sargent Florence. 

SECTION - C 
11. Attempt any two of the following : 

2x6=12 
(a) Mark - up pricing 
(b) Model firm 
(c) Distinguish between strikes and lockouts 
(d) Preference shares and non-voting shares. 
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2x20=40 

1. owsql : 

(a) VET 	qzi-ti atidffrr- 	c-41q.ncil 

? 

(b) f*74 7-*-R An11-1M717 	cbt TFA-9' 1cT 

	

2. 	(a)3-11-ElfiTT 41rd 	Td, 1956 	Ici -f-q-trEcdraff 

chi -qTri-i 

(b) 1970 A 1990 t 	3ftfri -nrci 
	 chi 4 t1 JT ct-) 

	

3. 	r-i4--iIrchd 	Tral 	quiff 	: 

(a) 	TIVZ 

(b) ce114R 3q1101-)tuf 	 3c41q1-)di 
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4. 	7:1-)--A-1-zr fqm-R4 	3Tricr qii TTI: 	t? 11-R-u 14 
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F14-116c1 .974 14 fWt War 3r1( .k I 	4x12=48 
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(a) 3-tTlitzi all,-Ht 	

(b) 51c-q-.1 fdtqft fik7T 

(c) 4qc1chkul 
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(b) 71ffd .141.  3* 

(c) tul-l1fda7 .qteTrk 

9. 	44-1idci1c1 #1-4-1"U cKilt? T{:{-4- #173-ffT Lit -.T7 ch 1 

10. 	TF1-1#r giki N c-II ccl --1. 41i alVirTrT 3-1a 	.k 
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11. 	-414 ftt 	 : 

(a) .WITTff-014ro afT{ 

(b) tc\Liiclich (model) 1-1-0-1 

(c) 	t 1:R24 4q 	I 

(d) 31f1T1T1 3-171 	th-Trd (non-voting) 3-#11 

2x6=12 
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